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B2 . S-25C640A0H-J8TxU3
&/ v — : 8-Pin SOP(JEDEC)

No. HERA HAEREH B r/n HEHNEREE
1 |EEHE Ta=125 °C, V = Vopr max. 1000 h 0/22 |HRREERBT S &
2 |mEEEns TR Ta=85°C, RH=85% 1000h | 022 |BRBEREBRT DL
V = Vopr max.
— o — _ 5
3 | FLysrsunsqpr | 187125 °C, RHZ85%, P=2x10" Pa 100h | 022 |BEEBESRTSoL
V = Vopr max.
4 |ERRE Ta=150 °C 1000 h 0/22 |ERREER/ET S &
5 [ERR%E Ta=-65 °C 1000 h 0/22 |BlmRBER/RET S &
6 |EXHITIIIL 1 Ta=25 °C, V= Vopr max. Jx 0/22 BRI EBRET S L
10°cycles
7 |BEmaY1o0L 2 Ta=85 °C, V= Vopr max. 2X | o |mEmEERRT L
10°cycles
8 |EEMAYIIIL 3 Ta=105 °C, V= Vopr max. fx 0/22 |BlEMBEWET S &
10°cycles
9 |BEYsIL (E8)H! Ta=150 °C & —65 °C, %& 15 %} 500 cycles | 0/22 |BSHEEFBRT B &
HRRKERRT DL
by | 2 —_ o
10 |[FATWEME L () 70—)" T=260 °C, 10s 3@ 0022 |pea 't mupisd o &
R e 2 T=380 °C, 55 ([FA T2 T5ERE) HaBRERRTHL
11 | [FATTEE 2 (FAZTT) % - U P 20 0022 | et mummmo s
R HEEKREBRET S L
12 |IZA T EME 3(7 0 —) * T=260 °C, 10s 1A 0/22 NELL. BEAEC &
TR BARE A LA 3HUA
i #3 T=245 °C ThdL
13 | (ARG T A TH + Sn-3.0Ag-0.5C > | O lemizies o osen bt
FHETELhD &
RAh XHY 40 L
14 |4 R 1 (ZERE) Ta=30 °C, RH=60% 4000h 0/6 Z ;J %= Z'f pm 2LF
15 |4 252 GREYA 2 L) Ta=85°C © 40 °C 1500 cycles | 0/6 z ;}2?:4 ABE 45um BT
s 4 AAY A XA 40 KT
16 |94 25 3 (BEETRE) Ta=55 °C, RH=85 % 4000h 0/6 f%é:& A
17 FAEESEESE Ta=125 °C & -40°C 2000 oveles | 022 WEATAREED 50% L1 LD
(& Al (XA 7% : Sn-3.0Ag-0.5Cu Y BEEHET S L
18 | J— K5| 23R Y 5&®E 51584 : 5.0N 30s 011 |V—FABZELAZWNC &
19 | J)— FehITi&aRE 8|85 : 25N 45 Eir Y T 2 [g 011 |V—FABRZELAZWNC &
- V=+2000 V, C=100 pF, R=1.5 kQ _
F#EMEL(HBM 15 ; -
20 |##EMm ( ) Veo £ % GND £ 5[a] 05 |HBRBHEmRETH_&
21 |EEMmE2(CDM) V=1500V HE, EKRE 1m 05 |ERBKERBRTSHL
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SYFTYITEE

22 +100 mA, V = Vopr max. 1 05 |SYyFF7yvFLENI &
(VNI RAEBREANZE) P
3E) Vopr max = KEMEEE
#1,2,3 : BTALIEZER®, LU —XITHREBEERT 5,
Al A B (#1)
=BRE R AL IR o o3
= o 1)270—3
Ta=125 °C Ta=85 °C ) ; [=]
=24 h RH=85 % T=260 °C
t=168 h t=10's
Al L B (#2)
BBRE R EALIE
. Ta=85 °C
Tat‘_lzif’h c RH=85% —
a t=168 h
Al A I (#3)
=BRE R AL IR NI
Ta=105 °C
— RH=100% -
t=8 h
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